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Question 1
Question Type: MultipleChoice

A network engineer configures the Cisco ACI fabric to connect to vCenter with these requirements:

Port groups must be automatically created on the distributed virtual switch.

Port groups must use the VLAN allocation in the range between 20-30.

The deployment must optimize the CAM space on the leaf switches.

Which set of actions meets these criteria?

Options: 
A- Create a dynamic VLAN pool with the VLAN range of 20-30.

Create a VMM domain and associate it with the VLAN pool.

Create the EPG and associate the domain.

Set the deployment immediacy to On Demand.

B- Create a dynamic VLAN pool with the VLAN range of 20-30.

Create a physical domain and associate it with the VLAN pool.

Create the EPG and associate the domain.

Set the deployment immediacy to On Demand.



C- Create a static VLAN pool with the VLAN range of 20-30.

Create a physical domain and associate it with the VLAN pool.

Create the EPG and associate the domain.

Set the deployment immediacy to Immediate.

D- Create a static VLAN pool with the VLAN range of 20-30.

Create a VMM domain and associate it with the VLAN pool.

Create the EPG and associate the domain.

Set the deployment immediacy to Immediate.

Answer: 
A

Question 2
Question Type: MultipleChoice

The customer is looking for redundant interconnection of the existing network to the new ACI fabric. Unicast and multicast traffic must be

routed between the two networks. Which L3Out implementation meets these requirements?

A.



B.

C.



D.

Options: 
A- Option A



B- Option B

C- Option C

D- Option D

Answer: 
A

Question 3
Question Type: MultipleChoice

Refer to the exhibit.



Refer to the exhibit. Which two configuration steps are completed before this output is generated? (Choose two.)

Options: 
A- MCP policy for the interface policy group for Port-channel 12 is enabled.

B- MCP Instance Policy default in the global access policies is enabled.

C- Error Disabled Recovery Policy for Loop Indication by MCP is set to True.

D- BPDU Guard is enabled for the interface policy group for Port-channel 12.

E- Spanning Tree Policy Region STP_4CAF232E48FF20 is added to the spanning-tree policy of the switch.

Answer: 



A, D

Question 4
Question Type: MultipleChoice

A customer must upgrade the Cisco ACI fabric to use a feature from the new code release. However, there is no direct path from the

current release to the desired one. Based on the Cisco APIC Upgrade/Downgrade Support Matrix, the administrator must go through

one intermediate release.

Which set of steps must be taken to upgrade the fabric to the new release?

Options: 
A- Upgrade the APICs to an interim release.

Upgrade the switches to an interim release.

Upgrade the APICs to the targeted release.

Upgrade the leaf and spine switches to the targeted release.

B- Upgrade the APICs to an interim release and then switches to an interim release.

When all switches are operational, upgrade leaf switches to the targeted release.

Upgrade the spine switches to the targeted release.

Upgrade the APICs to the targeted release.



C- Upgrade the APICs to an interim release.

Upgrade the leaf switches directly to the targeted release.

Upgrade the spine switches directly to the targeted release.

Upgrade the APICs to the targeted release.

D- Upgrade the APICs directly to the targeted release.

Upgrade the switches to an interim release.

When all switches are operational, upgrade the leaf switches to the targeted release.

Upgrade the spine switches to the targeted release.

Answer: 
A

Question 5
Question Type: MultipleChoice

Refer to the exhibit.



Refer to the exhibit. An engineer configures an L3Out but receives the error presented. Which action clears the fault?

Options: 
A- Acknowledge the QoS-related error.

B- Associate a custom QoS class.



C- Create a custom QoS policy.

D- Set the QoS policy to Level 3.

Answer: 
A

Question 6
Question Type: MultipleChoice

A Cisco ACI environment consists of multiple silent hosts that are often relocated between leaf switches. When the host is relocated, the

bridge domain takes more than a few seconds to relearn the host's new location. The requirement is to minimize the relocation impact

and make the ACI fabric relearn the new location of the host faster. Which action must be taken to meet these requirements?

Options: 
A- Set Unicast Routing to Enabled.

B- Configure ARP Flooding to Enabled.

C- Set L2 Unknown Unicast to Hardware Proxy.



D- Configure IP Data-Plane Learning to No.

Answer: 
B
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